MATH 2340 WARM-UP PROBLEMS

1. Assuming that F(s) is the Laplace transform of f(1) (L{f(t)} = F(s)), determine the appropriate
values for the constants a, b, and ¢.

Sty = at - ésin(!zf)
- 1
Hal = st (52 +¢)

£, ind
To,\f-'\ns e LaP\a(_g 'E'ra.he.{ofm 0—'—% Gy, o :2

Qi?(t\} aﬁi{f * é C% S‘m{‘lt{i Fj LxsiN} S N table .

W

_./

- L L Z -
Fs) = a < ~ B a4
I

. Iy
: dancymnator  we QY
Now, '?kivkd-w\% a  Common B >

2 1 3
o Siq__ _ ______;_r&_.—-—- v == & \l.
Fl) = 'S—,_ T ey T b & >, H

= = S-LL.S’-.»‘%)
s> (st ) ] g
c=Y4
b=72

4, dan = [Fe)

Final answes - \ o= 1|'-1._J \3": ’)__;_ and ¢

and  Fle)s ﬁi“"ﬁ. -



